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Расположите реплики так, чтобы получился связный диалог. Выберите один
из предложенных вариантов ответа.
 

A.  Can you wait a few minutes? I have to finish this letter.
B.  I said that it's a lovely day. Why don't we go for a walk?
C.  Believe I will. Look for me near the rock garden.
D.  I won't be too long. No more than ten minutes. Why don't you go on ahead and

I'll meet you in the park.
E.  What did you say?
F.  Don't take too long. It would be a shame not to take advantage of such lovely

weather.
1) EBAFDC 2) EFCDAB 3) ADEFBC 4) ACEFBD


